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Arithmetic Progression
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Mark

The common difference of -2, -4, -6, -
8, ...is?

Find next term of the sequence 10, 8,
6...

Find the 6% term of the A.P. 3,5, 7 ....
Find the nt" term of the A.P. 2, 4, 6,
8....

If the nt" term of A.P. is 4n + 5, then
find the common difference.
Determinemsothat2m+1, m+1, -
m+ 3 areinA.P.

In the series 20, 18, 16, ....., which
termis -2.

Find the 8" term of the series Whose
Th1=3n+1.

If the nt term of the series A.P. is

3n -1, then series is?| [") eniO

181.

Find the sum of 20 terms of an A.P.
Whose nt' termis 4n—1.

If sum of the n terms of A.P. is 476,
last term is 20, n = 17 then first term
is?

The sum of n terms is given by n? + n,
thenTp,="7

If T =2n of an A.P. then find
common difference.

If the sum of n terms of A.P. 476,
I=20,a=36,thenn="7?

If the sum of three numbers in A.P.

15, thena="?
Find the 50t" term of A.P. 2, 5, 8,
11,.....

If the 3" term of an A.P. is -40 and
13" termis 0, thend = ?

Find the sum of n natural numbers.

20.
21.

22.

23.
24.
25.
26.

27.

Which term of the A.Pgi.'ﬁ‘,-,t.‘ll.'%,;nz,\]m,“.[;;,j%( N U &
29.
30.
31.
32.

33.

34.

35.
36.

37.

If the sum of n terms n% —n, find the
nt" term.

Find the sum of 30 terms of an A.P.
Whose n" termis 3n—1.

If the sum of n terms is 476, last term
20 and common difference -1, then
find n.

If1=20,d=-1,n=17, then find first
term of A.P.

Find Sum of the number1+2 +3 +
...+ 100.

Find the 17t term of the series 3 + 7
If the sum of n terms of A.P. is 504,
|=20,a=36,thenn="

The nt" term of the A.P. 2n =5, then
find.the series.

The sum of 15 terms of the series 1, 3,
5....is?

The sum of first 20 natural number is?
Ifa=3,d=2,1=23,thenS, is?
Ifa=3,n=20andS,=300, thenlis?
Find the sum of first 15 terms of an
AP.ifT,=1and Ts = 22.

The sum of three numbers in A.P. is
27 and their product is 504, then the
numbers are?

Find the four numbers in A.P. Whose
sum is 16 and sum of their squares is
84.

Arithmetic mean between 5 and -15 is
The A.M.of (a+b)? and(a—b)?is

n+l n+l
C

—— s the A.M. of cand d,

n

c¢"+d

then nis.
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8. If‘qthe 2" 215t and the last term of an

5 -23

A.P. are 5, -7, respectively,

then find the number of terms.

39. Thesumof 3A.M.2and 10is

40. The ratio of the n terms of two A.P.
are in the ratio (4n + 1) : (3n—3), then
the ratios of their 6™ terms.

41. Sita saves Rs.32 during the first year,
Rs.36 in the next year and Rs.40 in the
third year. If she continues her saving
in this sequence in how many years
will she save Rs.20007?

42. Which term of the A.P. 20, 17, 14, ....
is the first negative term?

2/3/4 Marks

The seventh term of A.P. is 34 and
15™ term is 74. Determine the first
and the 40 term.

2. The fourth term of A.P. is equal to 3
times the first term and thesseventh

term exceeds twice tgﬁird te ,f:j
1. Find the first term he cg rl O
3. Whichterm of the A.P.: 3, 15, 27, 39,
.. is 132 more than its 54" term?
4. Ifthe 7 times the seventh term of an
A.P.is equal to 11 times its 11" term,
show that 18™ term of A.P. is zero.

5. Provethata, b, carein A.P. iff

LiiaremAP

bc’ ca’ ab
6. Determine the A.P. whose 3™ term is

16 and the difference of 5" term from
the 7" term is 12.

7. Determine the A.P. whose 3 term is
5and 7" termis 9.

8. Whichtermof A.P.: 3,10, 17, ... will
be 84 more than its 13™ term?

9. Determine k so that
k+2,4k —6,3k —2 are the three
consecutive terms of an A.P.

10. Find the sum of all three digit
numbers which leave the remainder 2

when divided by 5.
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11.

12.

13.

14.

15.
16.

17.

Us
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20.

21.

22.

23.

19.

The third term of an A.P. is 7 and
seventh term exceeds three times the
third term by 2. Find the first term,
the common difference and the sum
of the first 20 terms.

In an A.P. the sum of three numbers
is —3 and their product is 8. Find the
numbers.

Find four terms in an A.P. whose sum
is 20 and the sum of whose square is
120.

The third term of an A.P. is p and the

fourth term is g. Show that »”term of
anAP.is 1, =4p-3q+(q—p)n

The 6" term of an A.P. is— 10 and its
10™ term is — 26. Determine the 15"
term of the A.P.

If the 8" term of an A.P. is 31 and its
15™ term is 16 more than the 11t
term, find the A.P.

The 8" term of an A.P. is zero. Prove
that its 38t term is triple its 18t
term.

Which'term of A.P.: 24, 21, 18, 15, ...

is the first negative term?
th

Inagiven A.P. if the p” termis gand

g"term s p, then show that the n”
termis (p+q—n).
1

If the m" term of an A.P. be —and
n

its n” term be l, then show that its
m

(mn)thterm is 1.

If m times the m™term of an A.P. is

equal to n times the 5"

and m#mn,

show that its (m +n)th term is zero.

th

If p”, ¢", r" terms of an A.P. be q,

b, c respectively , then show that :
a(q—r)+b(r—p)+c(p—q):0.
Find 10™ term from the end of the
A.P. 4,9, 14, ..., 254.



24.

25.

26.
27.

28.

29.

30.
31.

32.

33.

34.
35.

36.

37.

38.

39.

40.

41.
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The sum of the three numbers in A.P.
is 21 and their product is 231. Find
the numbers.

Find the value of x for which
(5x+2),(4x—1)and (x+2)arein
A.P.

The 8% term of an A.P. 37and its 12t
termis 57. Find A.P.

The 7t" term of an A.P. is — 4 and its
13™ term is -16. Find A.P.

If the 10" term of an A.P. is 52 and
the 17" term is 20 more than the 13t
term, find A.P.

The 4" term of an A.P. is zero. Prove
that its 25t term is triple its 11t
term.

Find the 6% term from the end of the
A.P.17, 14, 11, ....,(- 40).

Find the 8™ term from the end of the
A.P.7,10, 13, ..., 184.

The sum of the three numbers in A.P.
is 27 and their product is 405. Find
the numbers.

The sum of the three rnrbersebrﬁlo
ind th

is 3 and their product is—35. F
numbers.
Find the sum: 25428 +31+...+100.
Find the sum of first 21 terms of the
A.P. whose 2" term is 8 and 4" term
is 14.

If the n"term of an A.P. is (2n+1),

find the sum of first n terms of the

A.P.

Find the sum of all two-digit odd

positive numbers.

Find the sum of all natural numbers

lying between 100 and 500, which are

divisible by 8.

Find the sum of all three-digit natural

numbers which are multiples of 7.

How many terms of the A.P. 3,5, 7,9,
.. must be added to get the sum of

120?

In an A.P. the sum of first n terms is

3" 5” . Find the 25" term.
2 2

42.

43.

44,

45.

46.
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48.
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If the p"” term of an A.P. is 1 and its
q

q"term s L show that sum of its
p

first (pq)’h term is %(pqq-l).

If the sum of first p terms of an A.P. is
the same as the sum of its first g
terms (where p # ¢) then show that

the sum of its first (p+¢) termis

zero.
If the sum of first m terms of an A.P.
be n and the sum of its first n terms
be m then show that the sum of its

first (m + n) term is —(m + n)-
If the sum of first n, 2n, 3n terms of
anA.P.be §,,S,,S, respectively, then

prove that S, =3(S,-S,).

Which term of the A.P. 5,9, 13,17, ...
is 817 Also find the sum

(5+9+13+17+...+81).

Find the sum/of all natural numbers
less than 100 which are divisible by 6.
Find the sum of all multiples of 9 lying
between 300 and 700.

Find the sum of all three digit natural
numbers which are divisible by 13.
Find the sum of 51 terms of the A.P.
whose second term is 2 and 4™ term
is 8.

The sum of the first n terms of an A.P.

isgivenby § = (Zn2 +5n). Find the

n™ term of A.P.
If the sum of first n terms of an A.P. is

givenby S = (3n2 —n) find its (i) n"

term (ii) first term (iii) common
difference.

Find the number of terms of the A.P.
63, 60, 57, ... so that their sum is 693.
Explain the double answer.

Find the number of terms of the A.P.
64, 60, 56, ... so that their sum is 544.
Explain the double answer.
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55. Tﬂe sum n terms of an A.P. is
2
(SL+ 3_nJ Find the 20" term. Answers
2 2 Mark

56. Find the sum of all 3-digit natural
numbers which are divisible by 13.

57. If five times the 5" term of an A.P. is
equal to 8 times its 6! term, then

-2

A e A e i el §
N
S

show that its 13%" term is zero. 4
58. If m" term of an A.P. be 1 and n" 2
n 12th
term be l, then show that its 28
m 2,5,8, ...
d
(mn)thterm be 1. 10. 23°
11. 320
59. Ifthe p”term of an A.P.is g and the 12. 36
q"termis p, prove thatits n"termis 13. 2n
14. 2
+g-—n).
(p+q-n) 15. 17
60. If mtimes the m" term of an A.P. is 16. 5
equal to n times its n"”term, show 17. 149
that the (m+n)thofthe A.P. is zero. 18. 4
th =l 19. Z(n+ 1)
61. If (m +1) term of an A.P. s twice the 2
) o 20. 2n—= 2
(n +1)t term, prove thbtlits e N| O U 51 1365
th . PBeligve in ﬁinu\x‘f;‘df'k 22017
(3m +1)" termis twilsHRE 3. 36
(m+n+1)th term. 24. 5050
62. If the numbersa, b, ¢, d, e form an 25. 67
A.P. then find the value of 26. 18
a—4b+6c—4d +e. 27. -3,-1, 1,...
63. The sum of n terms of three 28. 225
arithmetical progressionare S, S 29. 210
12 30. 143
and S;. The first term of each is unity 31. 27
and the common differences are 1, 2, 32. 645
3 respectively. Prove that 33. 4,9,14
S+, =28,. 34. 1,3,5,7
64. If the sum of m terms of an A.P. is the 35. ‘52 5
same as the sum of its n terms, show 36- (C)‘ +b
. . 7.
that the sum of its (m+n) terms is 38, 30
zero. 39 18
65. The sum of the first p, g, r terms of an 40. 5:3
A.P. are g, b, c respectively. Show that 41. 25
42. gt

%(q—r)+§(r—p)+§(p—Q)=0-
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2
1.
2.
3
6
7
8

9.

10.
11.
12.
13.
15.
16.
18.
23.
24.
25.
26.
27.
28.
30. -

/3/4 Marks

4,199

3,2

65t

4,10, 16, 22...
3,4,5,6...

25™M term

3

98910

-1, 4, 740
-4,-1,2o0r2,-1,-4
2,4,6,80r8,06,4,2
-46

3,7,11, 15, 19...
10

209
3,7,110r11,7,3

12, ...
4,2,.
7,..

3
2,
8, 6,
7,12, 1

7,
6
1
5

.
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32. 3,9,15
33. -5,1,7
34. 1625
35. 735

36. n*+2n
37. 2475
38. 1500
39. 70336
40. 10

41. 76

47. 816

48. 21978
49. 37674
50. 3774
51. 4n+3
52. 6n-4,2,6
53. 21 or22
54. 16 or 17
55. 99

56. 37674
62. 0
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